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UNIVERSITY OF NORTH BENGAL

B.A. Programme 6th Semester Examination, 2023

GE1-P2-PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.

SECTION-I / f{@ie-% / @uvs-&

I. Answer any four questions of the following: 3x4=12

fasfeie @-@= b1FT 2eie Tex nies
PT IRACT TP IR S8 :

(a) What is Copula?
AT 2
‘BIYT & & ? (Copula)
(b) What do you understand by ‘Immediate Inference’?
ST LA 00 I (@R 9
qIcepTe] SFTHI HTTel b 15O ?

(c) What is ‘sub-altern opposition’?
=R Al 9eT0e F @RI 9
‘Sub-altern Opposition’ & & ?
(d) What do you understand by ‘figure of a syllogism’? How many figures are there?
IR FRE 100 F @R 9 IR (6 FA0 FRZ SMCR 2
‘Figure of a Syllogism’ 9=Tet & SENGE DT DR B B+ ?

(e) Transform the following into standard form of categorical proposition:
AF ST (0T I SR TR 54
[EQUehT qTaIERReTTS A HUHT UG T8 R
(1) Virtuous alone are happy
T IR A3
(i1)) Man is selfish
RIGRKIREE
(i11) Birds are not beasts.
AR 21 73

(f) What is complementary term?
AR #% S 90 2

Complementary term & & ?
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(2)

(b)

(c)

(d)

(e)

SECTION-II / Teta-2 / @ue-g

Answer any four questions of the following:

fasfeike @-@= b1FF 2eie Tex nies
P IRICT T IR T8 :

What is obversion? What are the rules of obversion? Explain with example.
8 T 901 9 Ko ta fornafer 1 o Swizgenrz tan 341

e & 81 ? facieT IHeE - B ? ISTERVT Jled AT ey |

What is syllogism? Explain the structure and characteristics of syllogism.
fRaCoPse I @100 S @RI ¢ FRaCors Sic sloe 6 Tafeigy i<l 1)

TSI, & &1 2 RIcISior, el TR R fANdTes e T8 |

Test the validity or invalidity of the following argument and argument form
using truth table:

FOPAIRAR AR I € Y& AFICR (40! 8 S| I} 41
fESYeT T X THBRHD! e S (ERr T+ Fe AR T T8

(i) MoN
~N/ ~M-N

(i) (pog)-(r>s)
pvr/.o.qvs
What is contraposition? State the rules of contraposition. Is contraposition of
I proposition possible? Explain.
e & ¢ FRASER el § F 9 1 603 RIS F 78 9
eI (Contraposition) & & ? HreMINRFGT FRITEs WIB@@Q{ | & T
TSI eI F9a & ? e e |
Determine the validity or invalidity of the following arguments with the help of
‘Syllogistic rules’:
(1) AAA— 4th figure.
(i1) He must be hedonist. Because he seeks pleasure.
e i o srpiice s fewfr taael / sitael Ko e
(1) AAA— 4th figure.
(ii) (1 2 77LRM & 1 (7 72 FI A |
‘Syllogistic rules’ T FBRIAGRT fSSUHT qhEwHh! TLITT SFILT FERUT B |
(1) AAA— 4th figure.
(i) He must be hedonist. Because he seeks pleasure.

(f) Distinguish between good and bad analogy.

6097

I 8 S SR W AL T4
RTEY R AR FHIAT T HTSTb! 1T @IS Te N |

6x4 =24

2+4

3+3

3+3

2+2+2

3+3
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(a)

(b)

(©)

(d)
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SECTION-III / [Feia-9 / @usr

Answer any two questions of the following:

fasferie @-iv 15 @ltsw Tes wie
P GSACT UHD! ST faTery|

Determine the validity or invalidity of the following arguments with the help of
Venn diagram.

(1) AIl—2nd figure
(1)) AEE—4th figure

(ii1)) No Republicans are democrats; Some democrats are wealthy men. Since
Some wealthy men are not Republicans.

(bR MR TRk Yol el ¢ starel ek 11

(1) AIl—2nd figure

(i) AEE—4th figure

(iii) (P AGTOFAIR 2/TOF] 7, LA g T0F 4, FIel [Fg 4l eeoF |
W XTI HEIIGRT [GSYehT qepened! TGTdT TGP SA1d e |

(1) AIl—2nd figure

(i1)) AEE—4th figure

(ii1)) No Republicans are democrats; Some democrats are wealthy men. Since
Some wealthy men are not Republicans.

Use truth table to determine the following statement forms as tautology, self
contradictory and contingent:

@O [(po2g)-~qlo~p

(i) (pog)=(¢>p)

(iii) ~(p-@)=(~pv~q)

TEPARAR AR FHFRS Wwaeler gosore), Fo: Ny ¢ srenie i 2
@® [(po9)-~qlo~p

(i) (pog)=(¢>p)

(iii) ~(p-@)=(~pv~q)

I GRUT FERIAGRT fSgUaT geIhREwdIC tautology, self contradictory and
contingent &R T8

O [(p>29)-~ql>~p

(i) (pog9)=(@>p)

(i) ~(p-q)=(~pv~q)

What is induction? Distinguish between inductive argument and deductive
argument.

SRR SN 1 2 AR S SRR SN T 2L 41

HRIE P 8l 2 IARIE I ‘IARIE HTSTD T SETSTEI |

What are the criteria for appraisal of analogical argument? Discuss.

AR & TR Mawesf F 9 S T

QAT TeheT Teheh! HEATG ichT ST HIIGUS & 81 ? T T8I |

X

12x2 =24

4+4+4

4+4+4

6+6
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